6cm 8mm + 7cm Smm

@ 13cm 3mm

@ 14cm 3mm

@ 15cm 3mm
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1 2L 300mL

®3) 2L 500mL

(® 2L 700mL

@ 13cm 8mm

@ 14cm 8mm

50| 300mLe 22

@ 2L 400mL

® 21 600mL

St0}F 3000kg

4 7t=22| Zo|7} 300mol M=ZEe|l Zol7} 100m ¢!
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stCh AntE oF MKl 10kg E
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@ 0.01t @ 0.1t
® 10t B 100t

M 1kg 200g
@ 2kg 700g

(® 3kg 700g

0SSt AlRb MEME 10044t £

@ 1t

@ 2kg 200g

® 3kg 200g

o 100MAE
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@ 7cm @ l4cm @ 21cm

@ 28cm @ 35cm
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11 et M3 LHoIM Ysie SFolE Ttz 2
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afelzt?
1 50cm? @ 60cm? @ 70cm?
@ 80cm? @ 90cm?
[6%]
12 ct2 ol Eallol Zol=(e Fg
7=3.14)
@ 6.28cm @ 9.42cm @ 12.56cm
@ 15.7cm (® 18.84cm



13 i &9l Hol=?(ct, dF8 n=3.14)

@ 15.7cm?

@ 62.8cm?

@ 31.4cm? @ 47.1cm?

(® 78.5cm?

@ 9.42c¢m?
©) 56.52cm?>

(® 314cm?

@) 28.26cm?

@ 254.34cm?
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(™ 8.320cm @ 8.321cm ® 8.322cm

@ 8.323cm @ 8.324cm



